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QUESTION 1

How do you change the tablespace quota for a user on Autonomous Database on Shared Infrastructure? 

A. Execute alter database for user MTHEO tablespace DATA quota = 10G; 

B. Execute alter user MTHEO quota unlimited on tablespace DATA; 

C. Execute DBMS_CLOUD_ADMIN. GRANT_TABLESPACE_QOOTA (username => \\'MTHEO\\' , tablespace__quota
=> "UNLIMITED*); 

D. Execute alter tablespace DATA setquota = 10G; 

Correct Answer: C 

https://docs.oracle.com/en/cloud/paas/autonomous-database/adbsa/dbms- cloud-
admin.html#GUID4DC6A536-DC78-43FE-B173-CED1F9FB45A0 

 

QUESTION 2

For someone that is not a service administrator to use SQL Developer Web, what package would you need to use to
give them access? 

A. SQLDEV_ADMIN.GRANT_SCHEMA 

B. ORDS_ADMIN.ENABLE_SCHEMA 

C. ORDS_ADMIN.GRANT_SCHEMA 

D. ORDS_PRIV.ENABLE_SCHEMA 

Correct Answer: B 

As an alternative, the ADMIN can provide Web Access for a user, RESTenable a user, with SQL 

commands. As the ADMIN user run the following code: 

BEGIN 

ORDS_ADMIN.ENABLE_SCHEMA( 

); 

COMMIT; 

END; 

/ 

https://docs.oracle.com/en/cloud/paas/autonomous-database/adbsa/sql-developer-
web.html#GUID4B404CE3-C832-4089-B37A-ADE1036C7EEA 
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QUESTION 3

Which statement is NOT correct when setting up compartment quotas? 

A. There are three types of quota policy statements which are set, unset and zero. 

B. Compartment quotas use policies that allow allocation of resources with ahigh level of flexibility. 

C. Along with compartment budgets, compartment quotas create a powerful toolset to manage your spending. 

D. Compartment quotas are set by Oracle. 

Correct Answer: D 

https://docs.oracle.com/enus/iaas/Content/General/Concepts/resourcequotas.htm 

 

QUESTION 4

The Oracle Autonomous Database dedicated Exadata infrastructure feature is based upon which Oracle Cloud
resources? 

A. Oracle Machine Learning Zeppelin Notebook, Autonomous Exadata Infrastructure, Fleet Administrator, Database
Administrator, 

B. Virtual Cloud Network, Compartments, Policies, Autonomous Exadata Infrastructure 

C. Autonomous Exadata Infrastructure, Autonomous Backup, Autonomous Container Database, Autonomous Database 

D. Fleet Administrator, Database Administrator, Database User, Autonomous Exadata Infrastructure 
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Correct Answer: C 

Explanation: https://docs.oracle.com/en/cloud/paas/autonomous-
database/atpfg/components.html#GUID268B36E1-87D8-4649-A370-226E2AE3FC5C 

 

QUESTION 5

Which statement is true when you provision an Autonomous Database using the cloning method? 

A. After an Autonomous database is created using a clone, the network access option can be changed. 

B. A clone database source can be a running database instance. 

C. A clone database source can be from a point-in-time backup that is less than 2 hours old. 

D. When cloning an Autonomous Database, Oracle Machine Learning workspaces, projects, and notebooks of the
source database are cloned to the new database. 

Correct Answer: B 
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